Formula Sheet

L{f(t)} = |e ™ f(t)dt
1) ! Ua(t)=U(t—a)={O’ O=t<a
1l a<t<w

2 |—{1}_E L{eat}—i L{t"} = nt e
) S s_a =g is a positive integer
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3) L{sin kt}:ser—W L{coskt}:s2+—k2

. k S
4) L{sinh kt}=32_—k2 L{coshkt} = e
5) e F(O}=F ()], LHF(S) oo =€ F (1)
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6) L{U(t-2a)}= S L 5 y=U(t-2a)

7 {gtU(t-a)}=e*L{g(t+a)} L™ e *F(s)}=f(t—-a)U(t—a)

8) L{f ™ (t)}=s"F(s)—s"*f(0)—s"2f'(0)—....— f"(0)
9) L{y'(1)}=sY(s) - y(0) L{y" (t)}=s*Y(s) - sy(0) - y'(0)
0 e toxe = LD e F s e
S ds
1) L{F®)*g(t) }=F(s)G(s) fH*g@) = [ f(D)gt—r)dz
12) L{I f(r)dz}= ? LF(s).G(s)}= f(t)*g(t)
13) L{5(t)}=1 L{s(t-a)}=e"
14) If f(t) is periodic with period T then L{f (t)}= 1_%9_“ Je_St f (t)dt

: 1
sin(A+ B) =sin Acos B + cos Asin B sin A cosB = E[cos(A— B) —cos(A+ B)]



